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QUESTION 1

The system administrator has received complaints about the decreased performance of two LUNs. When you
investigate the port being used to connect to the LUNS, you discover that the port has achieved its maximum
throughput. You also discover that there are other ports available on the storage array that are not oversubscribed.
Which specific driver is needed to balance workloads between the host and storage?

A. SCSI driver

B. TCP/IP driver

C. Failover driver

D. Multi-path driver

Correct Answer: D

QUESTION 2

A line of business (LOB) executive informs you that a new application requires 99.999% (five 9s) of uptime from both
planned and unplanned outages before a service level objective (SLO) will be breached.

What is the amount of permissible downtown per week?
A. 20.16 minutes

B. .605 seconds

C. 5.04 minutes

D. 6.06 seconds

Correct Answer: D

QUESTION 3

A company has a storage subsystem that supports a variety of replication options. They have purchased an identical
array and placed it at a secondary site 50 km away and will provide the shortest RPO.

Which statement is correct?
A. Asynchronous replication is the only replication option for distances over 50 km.
B. Synchronous replication is the only replication option for distances over 50 km.

C. Snapshots allow for data to be quickly captured, copied, and mounted from one storage array to another and is the
ideal solution for all distances.

D. Synchronous replication will keep the arrays closely synchronized and is ideal for short distances.
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Correct Answer: D

QUESTION 4

You are asked to secure management access to your SAN devices.
Which three actions should you perform? (Choose three.)

A. Disable all unused protocols.

B. Limit network access.

C. Create individual access accounts.

D. Write to the syslog server.

E. Enable NTP synchronization.

Correct Answer. ABC

QUESTION 5

Which type of storage replication is required, at a minimum, for a non-critical application?
A. Synchronous

B. Asynchronous

C. Semi-synchronous

D. Multi-synchronous

Correct Answer: B
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